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3 A population of single-celled organisms was
grown in a Petri dish over a period of 16 hours.
The number of organisms ata given time is

recorded in the table below.
Time, hrs | Number of Organisms
) )
o 25
2 36
4 52
6 68
8 85
10 104
12 142
16 260

Determine the exponential regression equation
‘model for these data, rounding all values to the
nearest ten-thousandih.

[Using this equation, predict the number of
single-celled organisms, to the nearest whole
number, at the end of the 18th hour.
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2 The accompanying table shows the number of new
cases reported by the Nassau and Suffolk County
Police Crime Stoppers program for the years 2000
through 2002.

Year (x) | New Cases ()

2000 457
2001 369
2002 353

If x = 1 represents the year 2000, and y represents
the number ofnew cases, find the equation ofbest
fitusing a power regression, rounding all values to
the nearest thousandih.

{Using this equation, find the estimated number of
new cases, to the nearest whole number, for the
year 2007,
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|A2.5.6: Regression: Determine from a scatter plot whether a linear, logarithmic,
exponential, or power regression model is most appropriate

Samantha consiructs the scatter plot below from a
setof data.

100f

o 2 4 6 8 10

Based on her scatter plot, which regression model
would be most appropriate?

1) exponential 3) logarithmic

2) linear 4) power
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4 The data collected by a biclogist showing the
growth of a colony of bacteria at the end of
cach hour are displayed in the table below.

Time, hour. (x) | Population (v)
250
330
580
800
1650
3000

TP 19 Y

Wite an exponential regression cquation to
‘model these data. Round all values to the
nearest thousandh.

|Assuming this trend continues, use this
‘equation to estimate, to the nearest zen, the
‘mumber of bacteria in the colony at the end of 7
‘ours.
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5 Areal estate agent plansto compare theprice ofa
cottage, y, in 2 town on the seashare to the number
of blocks, x, the cottageis from the beach. The
accompanying table shows a random sample of
sales and location data. Write a linear regression
equation that relates the price of a cottage toits

distance from the beach.

Use the equation to predict the price of a cottage, to
the nearest dollar, located three blocks from the

beach.
|
Number of Blocks .
lumber of & Price of a Cottage
) v
5 132000
o 570,000
+ 5204000
2 525,000
7 SZ00
7 50500





